O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a2 + 4b* + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x>+38

(xQ—xy+y2) (x2+xy—|—y2) =x4—x2y2+y4

@
® (x-1) (x+1)2=xt-2x2+1



ohdA] 2x3 +ax® + bx +8°] x— 13 x - 22 Z}Z} Yipo] Hojx &
= A a, b9 27
®a=-2,b=-8 @ a=3 b=14

® a=-1,b=-3 @ a=4, b= -2
® a=-3.b="7
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a, b, ¢, d ° 5}t abed 9 722

@ 10 ® 50 @ 100

A3 +2x%2-3x+5=a(x-1)3+b(x-1)2+c(x-1) +d

® 200
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(14 x+x)2(1+x) + (14 x+ x* + x3)3
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